15.2 Practice — Definition of the Derivative

Pre-Calculus

Name: 60 [-L"“'{:io S

Notation: f (x). WRITE SMALL!!

Find the derivative using limits. If the equation is given as y =, use Leibniz Notation: % If the equation is given as f(x) =, use Lagrange
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For each problem, create an equation of the tangent line of f at the given point. The answer can be in point-slope form OR slope-

intercept.
13. f(7)=5and f'(7)= -2 14. f(-2)=3and f'(-2) =4 15. f(1)=—-5and f'(1) =3
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18. f(x) = cos 2x; f'(x) =—2sin 2x; x:f

19. f(x) = tanx; f'(x) =sec? x; ng
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| Using the function listed, find the equation of the tangent line at the given

x-value. |
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Skillz Revieus: Using the graph, find each value.
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